G 310 DC1.1 Reg. No. : | T—\

St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester I - Degree Examination
December - 2022

FINANCIAL ACCOUNTING
Time: 2 2 Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)

What do you mean by Liabilities?

State any two objectives of Accounting Standard?
What do you mean by accounting conventions?
Why do we prepare a Balance sheet?

Give the meaning of Proforma Invoice.

What are short workings?

M eps W N

How do you treat “salvaged goods” for calculating insurance claim for loss of
stock?
SECTION - B

Answer any FOUR of the following. (4x5=20)
Write a note on accounting process?
How will you treat the following while preparing the final accounts if they
appear in the adjustment?

* Loss on sale of machinery

¢ Income tax paid

e Accrued income

* Goods distributed has free samples

* Interest on drawings

10. Arun is a manufacturer of medicines and from the following figures, prepare a

Manufacturing Account for the year ended 31st December, 2020.

Particulars T |
Stock at commencement:

Raw Materials Chemicals 1,235

Finished Goods 2,454

Work-in-Progress (Cost) 311

Purchases of raw materials 5,322

Salaries 1,200
Office Rent 2,000
Manufacturing Wages 6,328
Factory Rent 600
Gas and Water for Factory 434
Freight and Carriage on raw materials 456
Landing charges and duty on raw materials 1,225
Commission paid to salesmen 1,051
Discount allowed to customers 333
Travelling Expenses ' 2,025
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Bad Debts e
26,328
Sales
Stock at the end: 938
Raw materials 1947
Finished goods 2' 107
Partly finished goods &
11. Afire occurred on September 15, 2021 in the premises of M/S XYZ Company

12,

13.

14,

Limited. From the following figures, Calculate the amount of claims to be
lodged with the Insurance Company for Loss of Stock:

g

Stock at cost as on January 1, 2020 20,000
| Stock at cost as on January 1, 2021 30,000
Purchases-2020 40,000
Purchases from January 1, 2021 to September 15, 2021 88,000
Sales 2020 60,000
Sales from January 1, 2021 to September 15, 2021 1,05,000
_Salvage value of Stocks after fire was 2,000

The Policy was for % 55,000 and was subject to the average clause

From the following information prepare Minimum Rent Account, when
minimum rent specified in the royalty agreement is 30,000.

Year Royalty 2
2018 21,000
2019 27,000
2020 30,000
2021 35,000

5,000 watches costing ¥10,00,000 were sent on consignment,

Consignor spent % 36,000 on freight and insurance. 100 watches were
destroyed during transit.

Consignee incurred the following expenses in connection with consignment:
29,000 by way of duty and dock dues and ¥10,000 by way of advertisement

and salesman's remuneration. He sold 3,900 watches for %12,00,000. His
commission was %24,000.

SECTION - C
Answer any TWO of the following. (2x15=30)
From the following trial balance of Ashwin as on 31* March 2021 prepare final
accounts after taking into account the adjustments given below:

Particulars Dr (%) Particulars Cr (%) |
Drawing’s account 15,000 | Capital account 1,20,000
Bills Receivable 22,000 | Creditors 58,000
Machinery 40,000 | Wages outstanding 1,000
Debtors 60,000 | Sales 3,55,000
Wages 40,000 | Commission 5,500_
Purchases 2,52,000 | Purchase returns 2,000
Rents and rates 6,000 | Loan on mortgage 0 95,_0_00_
Stock on 1.4.2020 90,000 | Provision for bad debt | 1,000
Travelling expenses 2,000 | Bills payable __ | 18,000
Insurance - 600 I
Repairs | 3400| S

Bad debts | 3soof T
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Furniture 9,000 | | |
| Sales return 5,000

| Salaries 10,500

| Cash in hand | 500

| Cash at bank 2,000

| Interest on loan 3,000

| Land and building 80,000 |

| Motor vehicles 11,000 |

| Total 6,55,000 | Total '6,55,000 |
Adjustments

(a) Stock on 31.03.2021 was ¥ 1,00,000

(b) Create 5% provision for doubtful debts

() Prepaid insurance amounts to ¥ 100

(d) Commission earned but not received amounts to ¥500

(e) Salaries unpaid ¥ 1,000

(f) Depreciate Machinery by 5%, Furniture by 10% and Motor Vehicle by 20%

On 1-1-2017 Punjab Minerals Ltd., leased a colliery from Chethan. The
company agreed to pay minimum rent of ¥2,00,000 in 2017, #4,00,000 in
2018 and %6,00,000 thereafter per year merging into a royalty of 240 per ton
with the power to recoup short workings over the first three years of the lease
only. The annual output for first five years was as under:

Year Output (Tons)
2017 Nil
12018 7,000
2019 21,000
2020 24,000
12021 l 25,000 |

Prepare in the books of Punjab Minerals Ltd. Minimum Rent Account, Royalty
Account, Short workings Account and Chethan's Account.

Kavitha Radio Co. Ltd. of Delhi dispatched 1,000 radio sets costing ¥ 600 each
to Varsha & Co Mangalore. The Kavitha Radio Co. Ltd. incurred the following
expenses on consignment.

Freight 27,500, Carriage ¥500 and Insurance Z2,000.

Commission was fixed at 5% on gross sale proceeds. The agents accepted a
bill for 2,00,000 drawn on them as advance.

In transit 100 radio sets were totally destroyed by fire and ¥ 29,000
were duly received by the consignor from the insurance company in full
settlement.

When goods were sold the company received account sales from agents
showing that 600 radio sets were sold for #6,00,000 and they paid custom
duty 210,000, clearing charges? 5,000, warehouse rent %4,500 and sales
expenses 26,000.

The agents remitted a draft for the balance after deducting the amount of bill
already accepted. Prepare in the books of Kavitha Radio Co. Ltd.
a) Consignment A/c b) Varsha & Co. A/c
¢) Goods Sent on Consignment A/c
d) Abnormal Loss A/c
EREEXRE
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MANAGEMENT PRINCIPLES AND APPLICATIONS
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Time: 2 V42 Hrs
SECTION - A

Answer any FIVE of the following.

1. Mention any two features of management?

(5x2=10)

Name some of the important contemporary management thinkers?

What is Delegation of Authority?

What are strategic planning?

W& o »

What do you mean by decision making?

6. What is accountability?

7. What do you mean by unity of command?

SECTION - B

Answer any FOUR of the following.

8. State the principles of effective control.

(4x5=20)

9. Explain Maslows need hierarchy theory?
10. Explain various Leadership styles.
11. Explain the barriers to managerial communication?
12. Discus the steps involved in decision making process.
What is human resource planning, how does it help an organization?

13.
SECTION - C

Answer any TWO of the following.

14. Explain functional and line and staff organization structure.

(2x15=30)

15. Explain the steps followed in a planning process?

16. Explain Henry Fayol’s Principles of Management?
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PRINCIPLES OF MARKETING
Time: 2 ¥2 Hours _ Max Marks: 60

SECTION - A
Answer any FIVE of the following. (5x2=10)
Define Marketing Management.
What do you mean by Market segmentation?
What is Market Skimming Pricing?
State the different components of Promotion.
Who is 2 Wholesaler?
What is Public Relation?
What is Rural Marketing?

e -

SECTION - B
Answer any FOUR of the following. (4x5=20)
8. Explain the importance of Marketing.
9. Write a note on Marketing Mix.
10. Briefly explain the strategies of Market Segmentation.
11. Explain the features of Green Marketing.
12. What is branding?

13. Explain briefly the types of Distribution Channels.

SECTION - C
Answer any TWO of the following. (2x15=30)
14. Explain the different Marketing Concept.
15. What is Product Life Cycle? Explain the different stages in Product Life Cycle.
16. Explain basis of Market segmentation.

Kk K kK
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INTERNATIONAL FINANCIAL ACCOUNTING

Time: 21/, Hours Max Marks: 60

SECTION - A

Answer any FIVE of the following.
1. Classify the following items into current and non-current assets and liabilities:

(5x2=10)

e land and buildings

e receivables

e cash

« loan repayable in two years’ time

2. What are the accounting entries required to account for settlement discount
received of $250 from a credit supplier?

3. Ignatius operates the imprest system for petty cash. At 1 July there was a
float of $150, but it was decided to increase this to $200 from 31 July
onwards. During July, the petty cashier received $25 from staff for using the
photocopier and a cheque for $90 was cashed for an employee. In July,
cheques were drawn for $500 for petty cash. How much cash was paid out as
cash expenses by the petty cashier in July?

4. FErin is registered for sales tax. During May, she sold goods with a list price of
$600, excluding sales tax, to Kyle on credit. As Kyle was buying a large
quantity of goods, Erin deducted trade discount of 5% of the normal list price.
If sales tax is charged at 15%, what will be the gross value of the sales
invoice prepared by Erin?

5. An item of inventory was purchased for $500. It is expected to be sold for
$1,200 although $250 will need to be spent on it in order to achieve the sale.
To replace the same item of inventory would cost $650. At what value should
this item of inventory be included in the financial statements?

6. A non-current asset was purchased at the beginning of Year 1 for $2,400 and
depreciated at 20% per annum using the reducing balance method. At the
beginning of Year 4 it was sold for $1,200. What was the profit or loss on
disposal?

7. At 1 September, the motor expenses account showed 4 months’ insurance
prepaid of $80 and fuel costs accrued of $95. During September, the
outstanding fuel bill was paid, plus further bills of $245. At 30 September
there was a further outstanding fuel bill of $120. What was the expense
included in the statement of profit or loss for motor expenses for September?

Contd...2
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SECTION - B

Answer any FOUR of the following. o
a) A Co had sales of $220,000 and purchases of $160,000, together wit

opening inventory and closing inventory of $24,000 and $20,000 respelctlvtelyi=
What was inventory holding period in days (based on the avera?e e\fek [0}
inventory for the period)? (2/; 'fl_'la" S_) I
b) B Co had the following det nt of financia

(4x5=20)

ails extracted from its stateme

position:
$000
Inventory 3,800
Receivables 2,000
Bank overdraft 200
Payables 2,000
What was the current ratio based upon the available information? (2v2 marks)

a) Bob used the following balances to prepare his financial statements as at

30 April 20X3.

$ $

Receivables 6,000
Bank loan 3,000
Bank overdraft 2,500
Drawings 4,100 l
Capital 1 May 20X2 12,500
Purchases and revenue 19,200 22,000
Rent 5,400
Bank interest 825
Heat and light 4,475

40,000 40,000

The business does not hold inventory. No further adjustments were required.
What was Bob'’s closing capital as at 30 April 20X3? (4 Marks)
b) State the 4 Enhancing qualitative characteristics of financial statements
useful to others. (1 Mark)
On 1 January 20X6, Hyndland acquired 90% of the issued equity capital of
Shawfield. In exchange for gaining control of Shawfield, Hyndland made
immediate cash payment of $3 per share acquired and also issued one new
share of $0.5 nominal value per share for each share acquired. At the date of
acquisition, Shawfield had equity share capital of 200,000 shares of $1
nominal value, a share premium account balance of $100,000 and retained
earnings of $590,000. On 1 January 20X6, the fair value of the non-controlling
interest in Shawfield was $75,000. In addition, at the date of acquisition,
Shawfield had several items of property plant and equipment which together
Contd...3
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had a fair value of $90,000 and a carrying amount of $70,000. The fair value
of a $0.5 equity share of Hyndland at 1 January 20X3 was $2.00 per share.
There has been no impairment of goodwill. What was goodwill on acquisition
of Shawfield for inclusion in the consolidated financial statements of Hyndland
for the year ended 30 September 20X6?

Liza bought a guillotine for her framing business for $20,000 on 1 July 2017.
She expected the guillotine to have a useful life of ten years and a residual
value of $500. On 1 July 20X8,

Liza revised these estimates and now believes the guillotine to have a
remaining useful life of 5 years and no residual value.

Prepare the Asset account, Depreciation account and Accumulated
Depreciation account for the year ended 30 June 2018 & 2019?

The draft financial statements of Galahad’s business for the year ended 31
July 20X0 show a profit of $54,250 prior to the correction of the following
errors:

(1) Cash drawings of $250 have not been accounted for.

(2) Debts amounting to $420, which were provided against in full during the
year, should have been written off as irrecoverable.

(3) Rental income of $300 has been classified as interest receivable.

(4) On the last day of the accounting period, $200 in cash was received from
a customer, but no bookkeeping entries have been made.

(5) Interest received of $70 had been entered in the bank account only.

Give the rectification entries in each of the cases.
Mark is a sole trader who has provided the following information relating to

transactions with credit customers and suppliers for the year ended 30 April
20X5:

Trade receivables 1 May 20X4 200,000

Trade payables 1 May 20X4 130,000

Cash received from customers 576,800

Cash paid to suppliers 340,000

Discount received 3,500

Contra between payables and receivables 3,800

Trade receivables 30 April 20X5 240,000

Trade payables 30 April 20X5 150,000

Assuming the there was no Opening inventory and losing inventory was $
15,000 What was gross profit for the year ended 30 April 20X5?

Contd...4
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SECTION - C

Answer any TWO of the following. _
14. TYR, a limited liability company, produced the following trial balance at 31

October 20X7:

(2x15=30)

Dr Cr
$000 $000
thity share capital @50¢ each 800
5% irredeemable preference shares @51 each 200
Share premium 100
Revaluation surplus _ ! 235 |
Retained earnings _ 190
12% loan notes,'regayable 20X0 250 |
Land at valuation B 495
Premises at cost 350
'_—dépreciation to 1 November 20X6 20
Plant and machinery at cost 220
'-depreciqtipn to 1 November 20X6 . 30
Patents and trade marks 200 '
Inventory at 1 November 20X6 210
Tradereceivables 875
Cash in hand B B 12
Trade payables 318
Bank 85
‘Administration expenses 255
Selling and distribution expenses 292
Equity dividends paid _ 20
Loan note interest _ 15
Bank overdraft interest 9
Revenue 2,569
Purchases 1,745
Carriage inwards 15
Carriage outwards 18 |
Returns outwards _ 3
e __ ) 4731 4,731
The following information is relevant to the preparation of the financial

statements for the year ended 31 October 20X9;

(1) Inventory was valued at $194,000 at 31 October 20X7.

(ii) Prepaid administration éxpenses amount to $12,000 and prepaid selling
and delivery expenses amount to $28,000. Accrued administration expenses
amount to $17,000,

(iii) The land is to be revalued at $55,000.

(iv) The premises are to be depreciated at 4%

Per annum on a straight-line
basis.

The plant machinery is to be depreciated at 10% Per annum on a

straight-line basis. All depreciation charges should be

classified as a cost of
sale.

Contd...5
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(v) The income tax liability, based upon profit for the year ended 31 October

20X7, was $40,000.
(vi) The equity dividends paid represent the full
preference shares, Wwith the balance being 2 dividend paid to equity

annual dividend for the 4%

shareholders.

Required:

(a) Prepare a statement of profit or loss and other comprehen
the year ended 31 October 20X7.

(b) Prepare a statement of financial position as at 31 October 20X7.
(7 marks)

sive income for
(8 marks)

On 1 October 20X7, Pedantic acquired 60% of the equity share capital of
Sophistic in a share exchange of two shares in Pedantic for three shares in
Sophistic. The issue of shares has not yet been recorded by Pedantic. At the
date of acquisition shares in Pedantic had a market value of $6 each. Below
are the summarised draft financial statements of both entities.

Statement of profit or loss for the year ended 30 September 20X8

Pedantic Sophistic

$000 $000
Revenue _ 85,000 42,000
Cost of sales (63,000) (32,000)
Gross profit 22,000 10,000
Distribution costs (4,000) (3,500)
Administrative expenses (8,000) (1,000)
Finance costs (600) (400)
Profit before tax 9,400 5,100
Income tax expense (2,162) (1,000)
Profit for the year 7,238 4,100

Contd...6
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Statements of financial position as at 30 Septer_Tlt_)Ef_________l_______.____q
——— | pedantic | Sophistic
B $000 $000
| feeeeey
I
Assets [
Non-current assets S e
2,600
Property, plant and equipment 40,600 1
600
Current assets B 16,000 6,
200
Total assets 56,600 19,
Equity and liabilities
Equity shares of $1 each 10,000 4,000
i i 35,400 6,500
m S [
Retained earning et 00
Non-current liabilities
10% loan notes 3,000 4,000
Current liabilities 8,200 4,700
Total equity and liabilities 56,600 19,200

The following information is relevant:

(i) At the date of acquisition, the fair values of Sophistic’'s net assets were
equal to their carrying amounts.

(i) Sales from Sophistic to Pedantic in the post-acquisition period were $6
million. Sophistic made a mark up on cost of 20% on these sales. One quarter
of these goods remained in the inventory of Pedantic at the year-end.

(iii) Other than where indicated, statement of profit or loss items are deemed
to accrue evenly on a time basis.

(iv) At 30 September 20X8, Sophistic had a receivable due from Pedantic of
$1 million. This agreed with the amount payable to Sophistic in Pedantic's
financial statements.

(v) Pedantic has a policy of accounting for any non-controlling interest at fair
value. The fair value of the non-controlling interest at the acquisition date was
$5.9 million. Consolidated goodwill was not impaired at 30 September 20X8.

Required:
(a) Prepare the consolidated statement of profit or loss for Pedantic for the
year ended 30 September 20X8. (6 marks)

(b) Prepare the consolidated statement of financial position for Pedantic as at
30 September 20X8. (9 marks)

Contd...7
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T!'le following financial statements and supporting information relate to
Firework Co, a limited liability entity:

Statement of profit or loss and other comprehensive income for the year
ended 30 June 20X5

: $000
Revenue 113250
Less: Cost of sales 77500
Gross profit 35750
Less: Distribution costs 3000
Less: Adminstration expenses 1000
Less: Interest payable 750
Profit before tax ) 31000
Less: Income tax expense 6000
profit f ar 25000

Profit for the year

Other comprehensive income: |
Revaluation of property, plant and equipment 2000
Total pomprehg_n;i\fg income for the year 27000

Statement of financial position at 30 June 20X5:

20X5 20X4
$S000 $000

Assets _

Non-current assets

Property, plant and equipment 110000 93000
Current assets ) |
Inventories 36000 30000
Trade receivables . 40000 35000
Cash and equivalents ' 0 10000
Total assets 186000 168000
Equity and Liabilities .

'Equity share capital 20000 15000
Share premium 8000 3000
Revaluation surplus 10000 8000
Retained earnings 96000 85000
Total equity 134000 111000
Non-current liabilities ' ,
Bank loan 7000 17000
Current liabilities

Trade payables 36500 30000
Income tax 6500 10000
‘Bank overdraft 2000 0
Total equity and liabilities 186000 168000,

The following information is relevant to the financial statements of Firework

Co:

(i) During the year ended 30 June 20X5, Firework Co disposed of several

items of plant and equipment for sale proceeds of $8,000,000. The loss on
Contd...8
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disposal of $2,000,000 is included within cost of sales. The depreciation
charge for the year was $15,000,000.

(ii) Firework Co estimated that the income tax liability arising on the profit for
the year ended 30 June 20X5 was $6,500,000.

Required:

Using the information available, complete the statement of cash flows for
Firework Co for the year ended 30 June 20X5 in accordance with the
requirements of IAS 7 Statement of cash flows.

ok ok ok ok o ke ok
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ORGANISATIONAL BEHAVIOUR

Time: 21/, Hours Max Marks: 60

SECTION - A
Answer any FIVE of the following.
Give the meaning of ‘Trait’.
What is transformational leadership?

(5x2=10)

Define motivation.

What is organisational commitment?
Define organizational behaviour.

What is meant by an informal group?
What is reinforcement in learning process?

NP AN e

SECTION - B
Answer any FOUR of the following. (4x5=20)

8. Explain any two models of organizational behaviour.

9. What factors influence resistance to change?
10. Describe briefly the principles of learning.
11. How is Maslow’s Hierarchy of needs related to motivation in organization?
12. Explain any two strategies to overcome stress.
13. What are the qualities of a successful leader?

SECTION - C
Answer any TWO of the following. (2x15=30)
14. What are the different styles of leadership in an organization?
15. What is meant by conflict? Explain the strategies for managing conflict.
16. What is organizational change? What are the forces responsible for
organizational change?

S koK o ok s ok o ok
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10.

11.

u to finalize his account for the year ended

One of your clients Mr. X asked yo .
ith the following

31st March,2022. As a basis for audit, Mr. X furnished you w

statement:

ey A s -
X's Capital

\T(‘s Drawings 1,692

| Leasehold Premises 2,250
Sales 8,250
Due from customers 1,590
Purchases 3,777
Purchase Return 792
Loan from Bank 768
Trade Expense 2,100
Trade Payable 1,584
Bills Payable 300
Salaries and Wages 1,800
Cash at Bank 678
Opening Inventory 792
Rent and Rates 1,389
Sales Return 294 ]

16,362 [16,362

The closing inventory was Rs 1,722. Mr. X claims that he has recorded every
transaction correctly as the trial balance is tallied. Check the accuracy of the
above trial balance.

1,000 toys consigned by Rosie & Co. of Calcutta to Sahoo of Srinagar at a cost

of Rs.150 each. Rosie & Co. paid freight Rs 10,000 and insurance Rs 1,500.
During the voyage 100 toys were totally damaged by fire and had to be thrown
overboard. Sahoo took delivery of the remaining toys and paid 14,400 as
customs duty. Sahoo sent a bank draft to Rosie & Co. for Rs50,000 as advance
payment and later sent an account sales showing that 800 toys had been sold
atRs220 each. Expenses incurred by Sahoo on godown rent and advertisement,
etc., amounted toRs 2,000. Sahoo was entitled to commission of 5 per cent.
One of the credit customers could not pay for 5 toys.

You are required to prepare the Consignment Account.

On 1st January, 2019 Kohinoor Transport Company purchased a Bus for Rs
8,00,000. On 1st July, 2020 this bus was damaged due to fire and was
completely destroyed and

Rs 6,00,000 were received by a cheque from the Insurance Company in full
settlement on 1st October, 2020. On 1st July, 2020 another Bus was
purchased by the company for

Rs 10,00,000.

The Company charges Depreciation @ 20% per annum under the WDV Method.
Calculate the amount of depreciation for the year ended 31 st March, 2021 and

gain or loss on the destroyed Bus
Contd...3
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The following are the details of the spare parts of an Oil Mill:

1-1-2021 Opening Inventory Nil

1-1-2021  Purchases 10 units @ Rs 300 per unit
15-1-2021 1Issued for consumption 5 units
1-2-2021  Purchases 20 units @ Rs 400 per unit
15-2-2021 1Issued for consumption 10 units
20-2-2021 Issued for consumption 10 units

Find out the value of Inventory as on 31.3.2021, if the company follows
Weighted Average Method.

From the following information show the journal entries in the books of ABC
Limited for the year ended 31st March, 2020:

(1) 100 units of goods costing Rs 500 each sent to XYZ Limited on Sales or
Return Basis @ Rs 750 per unit. This transaction was however treated as
actual sales in the books of accounts.

(2)  Out of the above 100 units, only 60 units were accepted by XYZ Limited

during the year @ Rs 700 per unit. No information was received about
acceptability of balance units by the year end.

SECTION - C
Answer any TWO of the following. (2X15=30)

(a) According to the cash-book of G there was balance of Rs 4,45,000 in his
bank on 30th June, 2021 On investigation you find that:

(1) Cheques amounting to 60,000 issued to creditors have not been
presented for payment till the date

(i) Cheques paid into bank amounting to 1,10,500 out of which cheques
amounting to Rs 55,000 only collected by bank up to 30th June 2021

(i) A dividend of Rs 4,000 and rent amounting to 60,000 received by the
bank and entered in the pass-book but not recorded in the cash book.

(iv) Insurance premium (up to 31st December, 2020) paid by the bank Rs
2,700 not entered in the cash book.

(v) The payment side of the cash book had been under cast by Rs 500

(vi) Bank charges Rs 150 shown in the pass book had not been entered in
the cash book.

(vii) A bill payable of Rs 20,000 had been paid by the bank but was not
entered in the cash book and bill receivable for Rs 6,000 had been discounted

with the bank at a cost of Rs 100 which had also not been recorded in cash
book.

You are required:
(1) To make the appropriate adjustments in the cash book, and

(2) To prepare a statement reconciling it with the bank pass book.

(10 Marks)

(b)  What is petty cash book? Write it's any two advantages. (5 Marks)

Contd...4
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Physical verification of stock in a business was done on 23rd June, 2016. The
value of the stock was Rs 48,00,000. The following transactions took place
between 23rd June to 30th June, 2016:

(i) Out of the goods sent on consignment, goods at cost worth Rs 2,40,000
were unsold.

(if) Purchases of Rs 4,00,000 were made out of which goods worth Rs 1,60,000
were delivered on 5™ July, 2016.

(i) Sales were Rs 13,60,000, which include goods worth Rs 3,20,000 sent on
approval. Half of these goods were returned before 30th June, 2016, but no
information is available regarding the remaining goods.

(iv) Goods are sold at cost plus 25%. However, goods costing Rs 2,40,000 had
been sold for Rs 1,20,000.

Determine the value of stock on 30th June, 2016. (10 Marks)

(b) What are the advantages of Subsidiary Books? (5 Marks)
M of Mumbai sent on consignment, goods valued Rs 4,00,000 to A of Agra on
1st March,2020. He incurred the expenditure of Rs48,000 on freight and
insurance. M's accounting year closes on 31st December. A was entitled to a
commission of 5% on gross sales plus a del-credere commission of 3%. A took
delivery of the consignment by incurring expenses of Rs 12,000 for the goods
consigned. On 31/12/2020, A informed on phone that he had sold all the goods
for Rs 6,00,000 by incurring selling expenses of Rs 8,000. He further informed
that only Rs 5,92,000 had been realized and rest was considered irrecoverable,
and would be sending the cheque in a day or so for the amount due along with
the accounts sale.

On 5/1/2021, M received the cheque for the amount due from A and incurred
bank charges of Rs1,040 for collecting the cheque. The amount was credited by
the bank on 9/1/2021.

Write up the consignment account finding out the profit/loss on the

consignment and A's account in the books of M.
3 3K K % K K K K K X
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10.

i

SECTION - A
Answer any FIVE of the following. (5x2=10)
What do you understand by Novation?
What is anticipatory breach of contract?
What do you mean by Attempted performance?
What is a contingent contract?
What do you mean by Constructive delivery?
What do you mean by Specific goods?
When does the property get transferred in case of specific goods in a
deliverable state?

SECTION - B
Answer any FOUR of the following. (4X5=20)
What are the modes of discharge of a contract? Explain any 7.
Mr. Watson aged 57 years was employed in a Government Department. He
was going to retire after three years. Mr. David made a proposal to Mr.
Watson to apply for voluntary retirement from his post so that Mr. David can
be appointed in his place. Mr. David offered a sum of 16Lakhs as
consideration to Mr. Watson in order to induce him to retire.
Mr. Watson refused at first instance but when he evaluated the amount
offered as consideration is just double of his cumulative remuneration to be
received during the tenure of three years of employment, he agreed to receive
the consideration and accepted the above agreement to receive money to
retire from his office.
Whether the above agreement is valid? Explain with reference to provision of
Indian Contract Act, 1872.
In case of goods sent on approval basis or on sale or return basis, when does
the ownership get transferred? Explain with an example.
Write a short note on Right of Lien.

Contd...2



G 340 DC2.1 Page No.2

12,

13.

14,

Mr. JHUTH entered into an agreement with Mr. SUCH to purchase his (Mr.
SUCH’s) motor car for 25,00,000/- within a period of three months. A security
amount of ¥20,000/- was also paid by Mr. JHUTH to Mr. SUCH in terms of the
agreement. After completion of three months of entering into the agreement,
Mr. SUCH tried to contract Mr. JHUTH to purchase the car in terms of the
agreement. Even after lapse of another 3 months period, Mr. JHUTH neither
responded to Mr. SUCH, nor to his phone calls. After lapse of another period
of six months, Mr. JHUTH contacted Mr. SUCH and denied purchasing the
motor car. He also demanded back the security amount of 220,000/- from Mr.
SUCH. Referring to the provisions of the Indian Contract Act, 1872, state
whether Mr. SUCH is required to refund the security amount to Mr. JHUTH.

Also examine the validity of the claim made by Mr. JHUTH, if the motor car

would have been destroyed by an accident within the three month’s
agreement period.

What are the remedies available to a buyer against the seller?

SECTION - C
Answer any TWO of the following. (2X15=30)
a) In light of provisions of the Indian Contract Act, 1872 answer the

following:
i. Mr, S and Mr. R made contract wherein Mr. S agreed to deliver paper
cup manufacture machine to Mr. R and to receive payment on delivery.
On the delivery date, Mr. R didn't pay the agreed price. Decide whether
Mr. S is bound to fulfil his promise at the time of delivery?

ii. Mr.Y given loan to Mr. G of ¥30,00,000. Mr. G defaulted the loan on
due date and debt became time barred. After the time barred debt, Mr.
G agreed to settle the full amount to Mr. Y. Whether acceptance of time
barred debt Contract is enforceable in law?

iii. A & B entered a contract to supply unique item, alternate of which is
not available in the market. A refused to supply the agreed unique item
to B. What directions could be given by the court for breach of such
contract? (9 marks)

b) Write a short note on Wagering Agreements. (6 marks)
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a .
) What are €Xceptions under section 25 of The Indian Contract Act, 1872?

(9 marks)

b) TK ordered timber of 1 inch thickness for being made into drums. The

c)

a)

b)

seller agreed to supply the required timber of 1 inch. However, the

timber supplied by the seller varies in thickness from 1 inch to 1.4

inches. The timber is commercially fit for the purpose for which it was

ordered. TK rejects the timber. Explain with relevant provisions of the
Sale of Goods Act, 1930 whether TK can reject the timber,

(3 marks)
AB sold 500 bags of wheat to CD. Each bag contains 50 Kilograms of

wheat. AB sent 450 bags by road transport and CD himself took remaining
50 bags. Before CD receives delivery of 450 bags sent by road transport,
he becomes bankrupt. AB being still unpaid, stops the bags in transit. The

official receiver, on CD's insolvency claims the bags. Decide the case with
reference to the provisions of the Sale of Goods Act, 1930.

(3 marks)
What are the exceptions to the rule ‘Nemo DatQuod Non Habet.’?

(10 marks)

X, Y and Z jointly borrowed ¥90,000 from L. Decide each of the following
in the light of the Indian Contract Act, 1872:

Whether L can compel only Y to pay the entire loan of 90,0007

Whether L can compel only the legal representatives of Y to pay the
loan of 90,000, if X, Y and Z died?

Whether Y and Z are released from their liability to L and X is released

from his liability to Y and Z for contribution, if L releases X from his
liability and sues Y and Z for payment?

ok o o ook ok ok ok o

(5 marks)
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UNIT - I (PROSE)
I. A Answer the following in a word/phrase/sentence each:
(5x1=5)

1. Tocqueville examines patriotism in all its forms particularly in the
interrelationships between man, government and

2. According to the lesson, 'The Power of Prayer’, Adversity always
presents opportunities for ; :

3. The eighteen ‘flesh and blood machines’ are replaced by machines of
steel which spout out pins by the hundred million. What does the
underlined phrase mean?

4. The essay, ‘A Hanging’ is set in ;

5. In a period where patriotism is self-oriented and driven by personal
advantage it is important to disintegrate the public and private interests.
TRUE/FALSE.,

B. Answer any THREE of the following in about 180 words each:
(3x5=15)
1. What does Tocqueville say about irrational patriotism under monarchy?
2. Describe the tiny temple town of Rameswaram as a vehicle of moral
growth.
3. Elaborate on the significance of the prisoner avoiding a puddle and its
impact on the readers. .
4. Discuss how capitalism turns people into dangerous lunatics in the real
world?
UNIT - II (POETRY)
¢ i Answer any TWO of the following in about 180 words each:
(2x5= 10)
1. Explain how cosmic pattern is connected to the pattern of human life in
the poem, “Night and death.”
2. How is the tiger portrayed as a mythical beast which is almost
- inexplicable in its beauty and glory?
3. How is death presented in the poem, "Do Not Go Gentle into That Good
Night?”
4. Comment briefly on the treatment of time in the poem, “A Hot Noon in
Malabar.”
UNIT - III (SHORT STORY)
III. Answer any TWO of the following in about 180 words each.
: (2x5=10)
1. How did the narrator of the story, ‘Getting Married’ solve the problem of
buying the chest of drawers?
2. Do you think the narrator had a role in arranging all the things for their
marriage in, ‘Getting Married’?
3. Examine Pahom'’s state of mind as he moves from being a peasant to
becoming a landowner.

4. Why does Pahom buy more and more land? What does this signify?
Contd...2
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UNIT - IV (GRAMMAR AND WRITING SKILLS)
IV A. Fill in the blanks with appropriate idioms and phrases given in

brackets. (5x1=5)

1. Apparently, he has stopped gossiping and promises to this
year.

2. Iread the government's on the great state of the health issues.

3. The government the Olympics to save the city money.

4. We're hoping that we'll at least and perhaps make a small
profit.

5. Detectives will , in their efforts to find those responsible.

[ leave no stone unturned, turn over a new leaf, bank on, highly
coloured report, break even, bring home the bacon, at all costs]
B. Write a dialogue in about 150 words in five turns each. (1x5=5)
Write a dialogue that takes place between you and your class guide
seeking guidance as you are unable to attend yoga classes due to health

issues.

C. Develop a story based on the hints given below in about 150
words. (1x5=5)
A farmer---- huge farm---- scarcity of water----- neighbour---- bought
his well ---- cunning neighbour---- did not permit to draw water----
neighbour’s argument-sold well not water----- emperor--- Wwisest
courtier---- questioned the neighbor---- pay rent to farmer----- or empty
water----- realized mistake---- farmer grateful to the emperor----

happily went home.

D. Read the following passage and answer the questions that
follow. (5x1=5)
The majority of successful senior managers do not closely follow the
classical rational model of first clarifying goals, assessing the problem,
formulating options, estimating likelihoods of success, making a
decision, and only then taking action to implement the decision. Rather,
in their day-by-day tactical maneuvers, these senior executives rely on
what is vaguely termed “intuition” to manage a network of interrelated
problems that require them to deal with ambiguity, inconsistency,
novelty, and surprise; and to integrate action into the process to
thinking.
Generations of writers on management have recognized that some
practicing managers rely heavily on intuition. In general, however, such
writers display a poor grasp of what intuition is. Some see it as the
opposite of rationality; others view it as an excuse for capriciousness.
Isenberg’s recent research on the cognitive processes of senior
managers reveals that managers’ intuition is neither of these. Rather,
senior managers use intuition in at least five distinct ways. First, they
intuitively sense when a problem exists. Second, managers rely on
intuition to perform well-learned behavior patterns rapidly. This intuition
is not arbitrary or irrational, but is based on years of painstaking
practice and hands-on experience that build skills. A third function of
intuition is to synthesize isolated bits of data and practice into an
integrated picture, often in an “Aha!” experience. Fourth, some
managers use intuition as a check on the results of more rational

analysis. Most senior executives are familiar with the formal decision
Contd...2
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analysis m

o r:ach'n odels and tools, and those who use such systematic methods

il Ing decisi.ons are occasionally leery of solutions suggested by
methods which run counter to their sense of the correct course of

:ztc'!o"' Fi”a"Y,. anagers can use intuition to bypass in-depth analysis
Move rapidly to engender a plausible solution. Used in this way,

intuition s an almost instantaneous cognitive process in which a
Manager recognizes familiar patterns.

One of the implications of the intuitive style of executive management is
that “thinking” is inseparable from acting. Since managers often “know”
what is right before they can analyze and explain it, they frequently act
first and explain later. Analysis is inextricably tied to action in
thinking/acting cycles, in which managers develop thoughts about their
Ccompanies and organizations not by analyzing a problematic situation
and then acting, but by acting and analyzing in close concert. Given the
great uncertainty of many of the management issues that they face,
senior managers often instigate a course of action simply to learn more
about an issue. They then use the results of the action to develop a
more complete understanding of the issue. One implication of
thinking/acting cycles is that action is often part of defining the problem,
not just of implementing the solution.

1. According to the pPassage, senior managers use intuition in all
of the following ways EXCEPT to

(a) speed up of the creation of a solution to a problem.

(b) bring together disparate facts

(c) stipulate clear goals

2. The passage suggests which of the following about the
“writers on management”

(a) They have criticized managers for not following the classical rational
model of decision analysis.

(b) They have relied in drawing their conclusions on what managers say
rather than on what managers do.

(c) They have misunderstood how managers use intuition in making
business decisions.

3. According to the passage, the classical model of decision
analysis includes all of the following EXCEPT

(a) creation of possible solutions to a problem

(b) establishment of clear goals to be reached by the decision

(c) action undertaken in order to discover more information about a
problem

4. The passage provides support for which of the following
statements?

(a) Managers cannot justify their intuitive decisions.

(b) Managers’ intuition works contrary to their rational and analytical
skills .

(c) Intuition enables managers to employ their practical experience
more efficiently.

5. Give a suitable title to the passage.
o ok ok ok 3 ok o ok ok %k
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hrs. Max Marks: 60
UNIT-1I (PROSE)

Answer any TWO of the following in about 100-150 words

each: (2x5=10)

Describe the social setting of the short-story ‘A Waterfall of Horses’,

\é‘ﬂha;?is the significance of the title ‘The Adventure of the Speckled
and’?

Shashi Tharoor describes India in a very pessimistic manner.

Comment.,

Who ?is the Human Phonograph? What role do they play in the short

story:

Answer any ONE of the following in about 250-300 words:
(1x10=10)
“Violence of temper approaching mania has been hereditary in the
men of the family, and in my stepfather’s case it had, I believe, been
intensified by his long residence in the tropics.” Comment on the
above with respect to the person who is referred to in ‘The Adventure
of the Speckled Band’,
Discuss the major themes and concerns covered by Shashi Tharoor in
the introduction to his book India: From Midnight to the Millennium
and Beyond with respect to contemporary issues affecting Indian

society.

UNIT - II (NOVEL)

Answer any ONE of the following in about 250-300 words:
(1x10=10)

How does the geographical state in which The Girl from Nongrim Hills
become a character in the novel?

Critically analyze any two characters in the novel The Girl from
Nongrim Hills.

UNIT - III (POETRY)
Annotate any TWO of the following in about 100-150 words
each: (2x5=10)
All along the watchtower
Princes kept the view
While all the women came and went
Barefoot servants, too
Well, uh, outside in the cold distance
A wildcat did growl
Two riders were approaching
And the wind began to howl

Contd...2
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if you have to sit for hours
staring at your computer screen
or hunched over your
typewriter

searching for words,

don't do it.

if you're doing it for money or
fame,

don't do it. i

if you're doing it because you want
women in your bed,

don't do it.

if you have to sit there and
rewrite it again and again,
don't do it.

But Oh! 'tis coldly cruel to wound ‘
The bosom whose blood must gush unbound.

No tear is so bright as the tear that flows

For erring woman's unpitied woes;

And blest be forever his honoured name

Who shelters an orphan from sorrow and shame!

Answer any TWO of the following in about 100-150 words
each: (2x5=10)
How does ‘The Orphan Girl’ talk about war?

Critically analyze the mythical imagery used in ‘Ms Millitancy’

What arguments does Charles Bukowski make about writing?

Write a short-note on Bob Dylan’s influences and how they affect the
composition of “All Along the Watchtower”

UNIT - IV (Grammar and Writing Skills)
Fill in the blanks with appropriate idioms from the options
given below. (5x1=5)
at all costs , to turn a new leaf, make a beeline, donkey’s
years, pull up your socks, to bank on, break even, copycat, on

the bench

Sudhir tried his best to but was unable to combat
inflation and rising rent.

Stella and Mary __ for the bookshop once the latest edition
arfived. .

It has been since we saw a lunar eclipse.

I have been trying and quit smoking.
They can the senator’s support to pass the legislation.

port for the following scenario in about 200 words.
(1x5=5)

tly held a cleaning-drive at 2

/i(rithika, a second-year
rt of

Write a re

The NSS unit of your college recen

local beach. You are Pramod

popular
cover the event. Write a repo

journalism student who was sent to

the event to be sent to a local news website.
************
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I.  Répondez en utilisant le pronom EN ou Y. : (8x1=8)
Sony boit du café?

Voulez-vous manger un chocolat?

Les employés sont dans le bureau?

Il pense & son travail?

Il a beaucoup de cousins.

Est- ce qu’elle vient d’Inde?

11 va en France?

Vous achetez deux livre pour Paul?

N U h W N

Répondez en utilisant les Subjectifs. (4x1=4)

11 ne faut pas que vous (parler)......... pendant le cours.
Il est important qu’il (aller)....... a son rendez-vous.

11 faut quetu tu ( étre) :....... & I'heure chezle médicin,

-
[

A w N R

Je serrai ravi qu'il (réussir) .....son concours

III. Comparez (4x1=4)

Les chinois et les indiens fabriquent des portables. =
Le fauteuil et la chaise (+ lourd)
Ryan et son frére. (mangent du riz -)

Valérie et Denis chantent. (bien +)

S W0

IV. Mettez les phrases au futur simple (4x1=4)

Le week-end prochain ils .......... (courir) un marathon.
Bientét, les hommes ......... (habiter) sur Mars. '
En 2023, nOuS........ (avoir) deux jours par semaine

Dans deux jours Luke Skywalker et Han Sol0viivess

AW N

(passer) par Terre.

V. Répondez aux questions (4x5=20)

Expliquez I’enseignement en France.
Résumer ’article quelle école pour demain?

Expliquez le travail en France en dix points.

;"":ﬂl\}l—l

Expliquez le systéme politique en France ' - \
i Contd...z P »



VII.

VIII.

G 750 LA6.1 Page No. 2
Dialoguez sur le sujet suivant: (1x5.=5)
pas sur de

Votre ami va passer un examen ou un entrein pour trouver du travail. Il n’est

lui. Vous le rassurez.

Ou
Vous étes avec un(e) ami (e). Vous entrez.dans un magasin pour acheter un vétement
(ou un sac, etc). La vendeuse vous accueil. Vous demandez conseil. Vous choisissez.

Vous essayer le vétement etc.

(5)

Ecrivez une lettre de demamnde d’emploi.

COMPREHENSION (5x2=10)
La guerre de Troie( Trojan War) est 'une des guerres les plus célébres de I'histoire. 1l est

bien connu pour sa durée de 10 ans, pour I'héroisme d'un certain nombre de personnages
légendaires et pour le cheval de Troie. Ce qui n'est peut-étre pas familier, cependant,

c'est I'histoire du début de la guerre.
Selon le mythe grec, le conflit entre les Troyens et les Grecs a commencé au mariage de

Pélée, roi de Thessalie, et de Thétis, une nymphe de la mer. Tous les dieux et déesses
avaient été invités & la célébration du mariage & Troie, & l'exception d'Eris, déesse de la
discorde. Elle avait été omise de la liste des invités parce que sa présence mettait
toujours les mortels et les immortels en conflit.

Pour se venger de ceux qui l'avaient méprisée, Eris a décidé de provoquer une
escarmouche. Au milieu de la salle de banquet, elle langa une pomme d'or marquée «
pour la plus belle ». Toutes les déesses ont commencé & marchander pour savoir qui -
devrait le posséder. Les dieux et les déesses ont atteint une impasse lorsque le choix a
été réduit 4 Héra, Athéna et Aphrodite. Quelqu'un était nécessaire pour régler la
controverse en choisissant un gagnant. Le travail est finalement tombé & Paris, fils du roi

Priam de Troie, qui était réputé étre un bon juge de beauté. Paris n'avait pas la tdche

facile. Chaque déesse, désireuse de gagner la pomme d'or, a essayé de le corrompre

agressivement.
« Je vous accorderai de vastes royaumes & gouverner », a promis Héra. "Les vastes

royaumes ne sont rien en comparaison de mon don", a contredit Athéna. « Choisissez-
moi et je verrai que vous remportez la victoire et la gloire a la guerre. » Aphrodite a
cependant surpassé ses adversaires. Elle remporte la pomme d'or en offrant & Paris
Héléne, fille de Zeus et la plus belle mortelle du pays. Paris, soucieux de réclamer

Héléne, partit pour Sparte en Gréce.
Si Paris apprit qu'Héléne était maride, il accepta néanmoins I'hospitalité de son mari, le

roi Ménélas de Sparte. Par conséquent, Ménélas a été indigné pour un certain nombre de
raisons lorsque Paris est parti, ramenant Héléne et une grande partie de la richesse du roi
a Troie. Ménélas a rassemblé ses forces loyales et a mis le cap sur Troie pour

commencer la guerre pour récupérer Helen.

1. Selon la mythologie grecque, quand le conflit entre les Troyens et les Grecs a-t-il

commencé ?
2. Quelle était la tche assignée & Paris ?

3. Eris était connue pour a la fois des mortels et des immortels.
a) complot contre

b) créer des conflits entre

c) se sentir hostile envers

d) ignorer

4. Chaque déesse a essayé _- de soudoyer Paris.
a) audacieusement
b) effectivement
c) secrétement
d) Réponse non disponible

5. Quelle escarmouche Eris a-t-il provoqué pendant le mariage ?

fedddkddkhhdk
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GEaNO MBEMRI NIOE: ;O PAMONDLYTYD (5x1=5)

0210)6RO1 & oYL ®aflo)@ @OOIOS M@eauDLAIE000@S 10 MY? ?
M anm)eamdo eaeela aeosjEmIS; @RS@OBORT?

M3 agan VB MREB AN (UERIN CRREBRUD ABOMINDN?
260600 Flmaiog AQ)nl0020@10}M)?

eouaImBmomBas alvynflam afldesnds] MDA HEIENE?

ajemepawlny aVEAEEA)e MUOBMV A)e (U BODOON S (3x4=12)

S5O0 LINOITMo (SHeasm GO
&13@72,{|©0£:0u003e(} BEMIANTo.

enemln] M A0AM)EAIINMIRI0

AQMYAS GEIemO aleMymeNEd0
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emom @)S1EETMINS nGH(MOLo 021 QO DOCTD] NI & 1ed.

80) ANOIT &J0WIND OOBERHEDIM 2EMONALIOYS (2x8=16)
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FOUNDATION COURSE IN HUMAN RIGHTS AND VALUE EDUCATION

Time: 2 Hours Max. Marks: 50
PART - A
Human Rights
I. Answer the following in one sentence each. (1x5=5)
1. What do you mean by Human Rights?
2. Name the founder of PUCL.
3. Expand ILO.
4. Who is a Consumer?
5. What do you mean by racial Discrimination?

II. Answer any ONE of the following in 8-10 sentences each. (5x1=5)

6. National Legal Services Authority v. Union of India is a landmark decision in
2014 by the Supreme Court of India, which declared transgender people to be a
'third gender', affirmed that the fundamental rights granted under the
Constitution of India will be equally applicable to transgender people, and gave
them the right to self-identification of their gender as male, female or third-

gender.
a) Who is a Transgender? (2 Marks)
b) Explain various problems faced by transgender in India. (3 Marks)

7. Explain the role of students in promoting Human Rights.

III. Answer any ONE of the following in 15-20 sentences each. (10x1=10)

8. Explain the human rights enshrined in UDHR.
9. Discuss the powers and functions of Amnesty International.

IV. Answer any ONE of the following in 30-35 sentences each. (15x1=15)

10. Examine the remedies available against violation of human rights in India.
11. Explain the composition and powers and functions of NHRC.

PART - B
VALUE EDUCATION
I. Answer any ONE of the following in not less than a page.

(5x1=5)
12. Explain five elements of the Integral Pedagogical Paradigm (IPP).
13. Write down the need for the right self-esteem.
II Answer any ONE of the following in not less than two Pages. (10x1=10)

14. Explain the techniques to enhance critical thinking skills,
15. Explain the Support system available at the college to reach out to society.

3 % % X % K K %k ok %



